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Note: (a) All questions are compulsory. g

(b) The candidate is allowed to make Suitable numeric assumptions wherevef weq:nred

Jor solving problems RINTERL ‘ -
LY
Q.No . Question ;é‘“ ’]'9-;-’ _"‘5‘ CO | Marks
Q1 | Consider the nested intervals I, [0 1- -] ,LNEN (naturals)
Find their infinite union and infinite intersection, ey "h v CO-3 2
Also, if B, = [n,n + 1],n € N (naturals), then ﬁnd ﬂi,’f_ B,.
Q2 | (a) Using Venn diagram, explicitly demonstrafe a lthesf'undamental
products possible for three sets 4, B and C by a su,ltable labelling. CO-3 3
(b) State the prmmple of duallty 1 W '
Q3 |1fH; =142 + +- + < then usmg brmc1ple of mathematical
induction, prove that -%%% h' rlogx + H,] VneN. €0-2 2
_11
Q4 | Define transitive closurg of i relat:on on a set A. Verify whether the
relation R = {(a, b), (b b) (é c),(c,d)}on A = {a,b,c,d} is CO3 3
irreflexive, and trainsmve ot not.
Q5 | Show that ((Dlifs-, ‘[’) isa poset and draw its Hasse diagram. CO-3 3
Al '!um-
Q6 | Construet truth fable forp - ~q.Is it a tautology? Give an example
BE CO-1 2
of a contradlctton
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